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@ 19928 @ 336+14 @ 224+7

@®)42.3 + 18 ® 852+6

20 WeAlS g Hroj" o] 2] 2] 9o W Lol X = 429
A2 ok £ Ao 0°0] A& = A= ABZbste] ALbet
=4

@ 19.92 + 8 =249

@336+14=24

®2.24+7=0.32

@ 42.3+18 =235

L g

®852+6=1.42
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® 0.84+3 @ 53.29 + 18 ® 0.28+8

@ 38.46+5 ®)16+6

~&B

D 0.84+3=0.28

® 53.29+18 =2.960---
® 0.28 +8 = 0.035

@ 38.46 + 5 = 7.692

® 16 + 6 = 2.666 - - -
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@ 1234+4->512+4 @ 34598 +5 — 346+ 5
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@779.01 ~8 57808
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D 248 +8=0.31
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® 423+3=14.1
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28.07 + 14

® 0.0205 x 14 = 28.07 @ 0.205x14 = 28.07
® 2.05x 14 = 28.07 @2.005)(14 = 28.07

® 20.05x 14 = 28.07
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2,005

14)28.07
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1 4 18
o3 @3 @F o7 03
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1 25
3= =2 =25+8=23.125
O 8 8
4 19
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@ 5 5
18
@E:18+5:3.6
1
@£:10+3:3.33-~
3 24
32 == =924+7=23428---
© 77
3.59}3.75*}014”“ %Mﬂr
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@ 5.371 @ 5.499 ® 5.838 (@)5.612 ® 5.758
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4 39
5o == =39+7=5571---
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3 23 e
5 =22 =923+4=5755571--- T} 5.75AH0] 9] A4k 5612
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a7 of A 2o 1717] gk
A7 Qe 42 stel el el 271 9.-;% 2 54 mu:m
0.25 cm7}H ZQLE T &,
o1¢] 0.759] S W, © ) 1-41 7] 1Al 72‘01%‘3‘—; @A 7342,

@ 69cm @ 87cm 3®)116 cm

@ 145cm ® 145.5cm

~&B

@9 &7 g2 # Er: 58.5( cm)
O] A7|A] & HE: 58.5+2-0.25 = 29.25-0.25 = 29( cm)
O HE: © XHH 0.75
O©2 712 2 B2 © AA 9] (1-0.75) = © HA] 0.25
© HAIx0.25 = 29
O AA =29 +0.25
= 116(cm)




